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By reading this passage which question can you answer?

I} Which buildings can stand better, steel or concrete ones?

2) [low can we increase the flexibility of our structures?

3) Why are steel structlures good al resisting carthquake?

4y Which buildings perform betler against carthquake, old or modemn?

The relationship between the cost of structures and design forees is -——--———--,
1) changeable 2) inverse

3) implicit 4) direct

The word “oamely” in paragraph 1 can be substituted by -—--——--——,

1) in addition 2) respectively

3) in particular 4) accordingly

The scismic design in steel building is not important if -————-——-,

1) the constructions oceur in the area standing damage from earthquakes

2) the developers add more support to the bottom floor

3) the materials using for structures are extremely flexible and durable

4) the weight of these structures arc adequartely low

Which sentence, based on the passage, is True?

1) The smaller forees a building atiracts, the less durable it is against carthquake.
2) Stiffer and heavier structures are not suitable for earthquake-prone regions.

3) A building designed for wind forces is not sufficiently earthquake-proof.

4y The cover surrounding a large volume should have a high flexibility.
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